Statistics and Probability Practice Test

Name /< E 7/ Period

For problems 1 — 5, refer to Carolina High School, which consists oreshmen@sophomores,
@uniors, an@eniors. For the following problems, find each theoretical probability.

1. P(junior(op senior) 1. _5l.1 [/
5 N 503 To=al B
2000 2000 200D S1o°
2. P(not freshman) 2. F~Z.3 /
00D
—2'-t5§ )S 45 272
15Ys A000 s
3. P(sophomore) 3. LQ (9 . 2 /
524 |
2000 T - R62
;? EVEN'JT.) MUCI‘:'PL)' )
4. P(freshman,then sophomore) 4. 5.9L /
without replacement
485 524y _ 2394ro
26060 |1aqq 21980060 .05963
5. P(junior,&hen senior) 5. (9 S /
with replacement
51¥ 50232 . LbO5ssY _
o0 " 06 T Yoooooo - - O65
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For problems 6 — 7, you roll on¢ dice at a casino. Find each theoretical probability of a combined roll.

6.

10.

11.

P(odd number@r)multiple of 4) 6. L.72 /
1,3,S Y
()
3 1l -4 . =
- Tt T g Ct
P(even ngmber, 2,0or7 7. 50 /
2.4, » .
',m[ab.f!: R, _
’ o
3 4L L 02

G & Common vegion ’
A crate has 9 bottles of pjop. hreg are 8. g 3 /
Pepsi,@are Coca-Cola, and i@'mc re
Mountain Dew. What is the probability of
picking two Pepsi bottles from the crate,
assuming you do not return the first bottle?

3R L g

7% T 7y 0TS
Which of the following pairs are mutually 9. A Cannas L& kc-l—[\.
exclusive? Select A or B. Explain.

Sepam-le

A. Being a mother and a grandfather @‘y @raw{-@w_

B. Being a teacher and a parent

Which of the following pairs are independent 10. B T he second dvaw doer
events? Select A or B. Explain.

not+ Jepavwo on +L\< ‘r.‘r:4 Jrau.

A. Picking two separate marbles out of a bag
B. Picking a marble out of a bag(replacing |1D

and then picking another marble out of the bag
55% of the American population votes, 20% of 11. [9 O /
the American population smokes, and 15% of the
American population votes and smokes. What

percentage of the American population votes or musi subivact +he common region
smokes (P(vojes@ smokes))?

he ;ﬂcwow\im-l-m- S4-f~/\/_c +L< Same.

5s/ 4+ 207 —185 7/

lo 07)
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For problems 12 — 13, determine how many passwords are possible. Show work or receive no credit.

12. Three letters and five digits (0 — 9). Letters 12. |, 757, LOO, 0OD J;ff evend

and digits can be repeated. prsswords
A Bc 1 2 34 ->s
o'?é. o'?b 2 - 16 - 16 - 10 - 10 VYO
13. Four letters and six digits (0 — 9). The first 13. ?3 N L/ LDQ \ L/OO di £ evend
7 Pa\.crwov-dr

letter must be M, and the second letter must
be G. Letters and digits cannot be repeated.

@DUDDDDDLL/

N A4 - 23 - 1o ‘

For questions 14 — 15, show work or receive no credit.

20,539

14. Mr. Schumann wants to choose groups of 2, 14.
5 students out of a class of 20 students. How
many groups of students can he pick? Ordev doesnt made-.

o C, v C

Q0 2 20 4 2o 5

|30 + H¥4Ys + 550y :@

15. Mr. Geist is a compulsive gambler that bets 15. 3 3 (g
on horses. He goes to a horse race where
8 horses are racing. How many different
ways can the 8 horses win 1%, 2" and 3™
place? Order matders

. 7 ¢ -G

]S-v— Qv\d Srd
P o= 230
g 3
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For questions 16 — 20, refer to the following box-and-whisker plot.

25 7. S 2z
I 25/ ZC /="
M IN | CQI\ | /V\c;&iAN ng /"VI*X |
| | | | | | | |
10 15 20 25 30 35 40 45
16. Find the interquartile range of the data. 16. j 5
Qf Q,
3s-z20 =(s)
17. What does the interquartile range tell you 17. 50 /. of +he Jo—l-a it beteen
about the data?
SS and 20
18.  Find the range of the data. 18. SO
Max - Min
4yp — 1O
19. Find the median of the data. 19. g O
20. What percent of data is between 20 and 307 20. AS /.
21. A classroom set of grades has a mean of 76%
and a standard deviation of 7%.
A. Draw the normal curve for this distribution. Label the x-axis with the values that are

one, two, and three standard deviations from the mean.

|
|
I
' | ] | )

657 Lal b3l 3L/ 3/ 9qo/ Azl

-3 -2 -1 X l A 3 .
B. What percentage of the data has the B. } LV /
value of 83% or above?

28+ ST
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22. Below is a distribution of test scores from Mr. Geist’s differentiated chemistry class. Are the
scores positively skewed, negatively skewed, or normally distributed? Explain. Also explain how
the mean is affected by this distribution.

| | | | | | | |
| | | | | | | |
65 70 75 80 85 90 95 100

Explanation: Neja—/-,'\/c/7/ Skewe d. | o test Scoves Stretch

—H\a Cuvve [<-f+ TL\z wean 1S |Ow¢r —}me i+ would Lave b(tr\

n & novmal o‘p;S‘f-r',LJu-l-;ah,

23. The salaries of teachers at a small rural school
are shown below.

4
A. What is the mean, median, and mode A. Mean: 3 (p N LI O O
of the salaries?

Median: 4 SY,000

Salaries of teachers at the school:

Standard deviation: f//) ¥ 9.3

$28,000 $34,000 $36,000
$28,000 $34,000 $38,000
$28,000 $34,000 $70,000
$34,000
B. The local school board and teacher’s union are preparing to meet about pay raises. If you

were a teacher making the lowest salary, which of the following would you NOT use to
justify a pay raise: the mean or the median? Why?

Explanation: L would not ment o +he Mediay becavse 4 i r Joer.

T wonld vientiom +Hwo Wean /ﬂvt"ﬁjﬁ) Sa/m/\/ S !_?(:,‘/AD because

. N
*I’L\( 7[)[000 outlier slews +he Mean !DO:l+thl/y,

C. How would it impact the mean and the standard deviation if you removed the $70,000
salary? Explain.

&
Mean: The mean would cl)ro{; +o0 ”fz:e,wa Ee,camse +he 70,0006 :almy

1€ Gn Ou-l-l](r. T]y\e A’-’S—I—V:LWHOV\ would be moarve “V\ovwm( ".

Standard deviation: The S.D. woewld alrn o/va#) Jo y3527 be ca wse o'F -lfl\a Saame reoacon.
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